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Real0l Answers for No.9363

Ansl =[a=0,b=3,c=-4]

.1=[p(x)+q(x)=4x2+5x+3] .2=[p(x)—q(x)=—2x2—5x—5]
Ans2 = .3:[q(x)—p(x):2x2+5x+5] .4:[mp(x)—nq(x):—llx2—25x—24]
S=[p(x)q(x)=3x"+5+x" = 5x—4] G6=[[p(x)P=x"-2x"+1]

Ans3=[p(x)q(x)=x"—4x - 9x* -~ 18x’ —4x* - 8x—12]
Ansd=[a+b=8,ab=7], , AnsS=[a=2,b=4,ab=28]
Ans6=[P(x)=x"-2x +x" +4x—-5]

_I:|:Q(x):5x3_4x2_2x—l} 2:|:Q(x):5x2_4x_2:| _
' R(x)=x+4 ' R(x)=—x"+x+4
_ _ Q(x)=x _ Q(x)=x3—x2+3x—7}
a7 ’3_[R(x)=—2x—3} '4_[ R(x) =18
5_[Q(x)=3x3+6x} 6_[Q(x)=x3+2}
L LR(x)=12x-4 7L R(x)=0 ]
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Real0l Answers for No.9435

AI’lS]:[a:-l,b:-4,c:4]

.1=[p(x)+q(x)=4x2+3x—2] .2=[p(x)—q(x)=—2x2—3x—4]
Ans2 = 3=[q(x)—p(x)=2x"+3x+4] 4=[mp(x)-nq(x)=-7x"—9x-9]
S=[p(x)q(x)=3x"+3x-8x"-9x-3] 6=[[p(x)=x"-6x"+9]

Ans3=[p(x) q(x)=x’+6 X +2x* +4x +20x" - 16 x — 8]
Ansd =[a+b=-12,ab=35], , AnsS=[a=-7,b=6,ab=-42]
Ans6=[P(x)=x"+x"+6 x>+ 11x—7]
_]:[Q(x):3x3—4x+3} 2_[ Q(x)=3x"—4 } |
’ R(x)=x-4 . R(x)=3x"+x—4
s — .3:[ Q(x)=x } '4:[Q(x):x3+5x2+15x+46}

R(x)=5x-6 R(x)=142
5_[Q(x)=2x3+4x} 6_[Q(x):x3+4}
. 7 L R(x)=8x+5 7L R(x)=0 ]
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RealOl Answers for No.9484

Ansl =[a=-3,b=-3,c=1]

.1=[p(x)+q(x)=5x2+3x—l] .2=[p(x)—q(x)=—3x2—3x+5]
Ans2 = 3=[q(x)-p(x)=3x"+3x-5] 4=[mp(x)-nq(x)=-5x"—6x+12]
S=[p(x)qx)=4x"+3x+5x+6x—6] 6=[[p(x)P=x"+4x"+4]
Ans3=[p(x)q(x)=x"—6x"—x +29x* — 42 x + 15]
Ansd=[a+b=4,ab=-21], , AnsS5=[a=-6,b=4,ab=-24]

Ans6=[P(x)=x4—7x3—x2+9x—3]

_I_[Q(X)=3x4—x3+2x2—4x+4} 2_[ Q(x)=3x-1 }

T R(x)=-1 o R(x):2x3—4x2+4x—1

_ | Q)=x } _[Q(x):x3+2x2—8x+23}
Aans7 = '3_[R(x)=—4x—3 4= R(x)=-70
5_[Q(X)=2x3—2x} 6_[Q(X)=x3+6}

. L R(x)=2x+3 UL R(x)=7 ]

X [Page = 0003] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXKXXKKKKXXXXKXKKKKKKKK KKK XXX KKK KKK KKK KKK LKL KKK KKK KKK KKKKK



D ERVERHNCIVISENED $.9:0:0.0:0:0.0.0:0.0.0:0.0.0:0.0:0:0.0.0:0.0.:0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.9:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.9:0.0.9:0.0.0:0.0 ¢ W LY VA N O NN IC LT O N0 10 [ 015706
Real0l Answers for No.9503

Ansl =[a=3,b=-2,c=-3]

A= [p(x)+q(x)=3x2+4x+6] .2=[p(x)—q(x)=—x2—4x]
Ans2 = 3=[q(x)-p(x)=x"+4x] 4=[mp(x)-nq(x)=-8x*—20x—9]
S=[p(x)q(x)=2x"+4x+9x"+12x+9] 6=[[p(x)P=x"+6x"+9]
Ans3=[p(x)q(x)=x-=T7x' +6x +20x -8 x — 12]
Ansd=[a+b=9,ab=14], , AnsS=[a=-2,b=T,ab=-14]

Ans6=[P(x)=x"+2x —-x" = 7]

]:[Q(x):5x4—2x3—x2+2x} 2:{Q(x):5x2_2x—1}
‘ R(x)=1 ’ R(x)=2x>+1
AnsT = .3:[ Q(x)=x } '4:[Q(x)=x3+3x2+7x+13}
R(x)=x-1 R(x) =25
5:[Q(x)=4x3+8x} 6:[Q(X)=x3+2}
i R(x)=16x-5 ' R(x)=0 i
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RealOl Answers for No.9630

Ansl =[a=-1,b=-2,c=13]
.1=[p(x)+q(x)=3x2+4x+3] .2=[p(x)—q(x)=—x2—4x+1]
3=[qx)-p(x)=x"+4x—1] 4=[mp(x)-nq(x)=—4x"—12x+1]

S=[p(x)qx)=2x"+4x" +5x" +8x+2] 6=[[p(x)=x"+4x"+4]
Ans3:[p(x)q(x):x6—3x5+5x4+5x3— 12x*+16x+ 15]
Ans4d=[a+b=-3,ab=-40], , AnsS=[a=-2,b=5,ab=-10]
Ans6=[P(x)=x"+4x -3x" - 6x—-1]

Ans2 =

_]_[Q(x):x4—2x3+2x2+4} 2_[Q(x):x2—2x+2} |
T R(x)=0 B R(x)=4x

- | Qx)=x _Q(x)=x3+7x2+18x+38}
Ans7 = '3_[R(x)=—4x+3} .4—[ R(x)=71
5_[Q(x):3x3+3x} 6_[Q(x):x3+2}

L L R(x)=3x+2 L R(x)=0 ]
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RealOl Answers for No.9647

Ansl =[a=-3,b=-1,c=1]

.]=[p(x)+q(x)=3x2—2x—2] .2=[p(x)—q(x)=—x2+2x—4]
Ans2 = 3=[q(x)-p(x)=x"-2x+4] 4=[mp(x)-nq(x)=—x"+6x—18]
S=[p(x)qx)=2x"-2x" =5 +6x-3] 6=[[p(x)=x"-6x"+9]
Ans3=[p(x)q(x)=x"+3x" - 14x - 18x* —4x - 8]
Ans4d=[a+b=15,ab=56], , AnsS5=[a=-1,b=T7,ab=-T7]

Ans6=[P(x)=x"+3x +2x*+8x—-5]

_]_[Q(x):2x4—x3+2x2—x+3} 2_[ Qx)=2x-1 }

T R(x)=-4 o R(x):2x3—x2+3x—4

_ | Q)=x _Q(x):x3+x2—5x+16}
Aans7 = ’3_[R(x)=2x+l} ’4_[ R(x)=-52
5_[Q(X)=3x3—69ﬂ 6_[Q(x)=x3+5}

L "LR(x)=12x-5 7L R(x)=2 ]
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Real0l Answers for No.9779

Ansl =[a=3,b=-3,c=3]

.1=[p(x)+q(x)=4x2+3x—3] .2=[p(x)—q(x)=—2x2—3x—l]
Ans2 = 3=[q(x)-p(x)=2x"+3x+1] 4=[mp(x)-ng(x)=—11x"-15x-3]
S=[p(x)q(x)=3x"+3x-Tx —6x+2] G6=[[p(x)=x"—4x"+4]

Ans3=[p(x)q(x)=x*=3x = 2x"+4x - 14x" -2 x +4]
Ansd=[a+b=9,ab=8], , AnsS=[a=6,b=1,ab=6]

Ans6=[P(x)=x4—x3+5x2+x+5]

_]_[Q(x)=3x4+2x3+x2—4x} _[Q(x)=3x+2}
o R(x)=0 B R(x):x3—4x2
_ | Qx)=x } _[Q(x):x3+4x2+12x+36}
Ans7= 3 _[R(x) =—6x+5 4= R(x) =109
5_[Q(x)=3x3—391 6_[Q(x)=x3}
L L R(x)=3x-5 7 LR(x)=4 i
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RealOl Answers for No.10293

Ansl =[a=0,b=-4,c=3]
.1=[p(x)+q(x)=3x2—3x+3] .2=[p(x)—q(x)=—x2+3x—1]
Ans2 = .3:[q(x)—p(x):x2—3x+1] .4:[mp(x)—nq(x):x2+6x+1]
S=[p(x)qx)=2x"-3x"+4x"-3x+2] G6=[[p(x)P=x"+2x"+1]
Ans3=[p(x)q(x)=x+6 X+ 13x*+20x —4x* -8 x—20]
Ans4d=[a+b=-15,ab=54], , AnsS=[a=5,b=6,ab=30]
Ans6=[P(x)=x"+2x =5x"—5x—4]

| _Q(x):x3+3x2} [ Qx)=x+3
’]{R(x):—zx—z '2_[R(x)=—2x—2}
o, | Qx)=x _Q(x):x3+5x2+14x+26}
A= '3_[R(x)=3x—3} '4_[ R(x)=56
5_[Q(x)=3x3+3x} 6_[Q(x)=x3+5}
|7 L R(x)=3x-4 7L R(x)=2 ]
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RealOl Answers for No.10311

X
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Ansl =[la=-4,b=-4,c=0]
.1=[p(x)+q(x)=5x2—3x+9] .2=[p(x)—q(x)=—3x2+3x+1]
3=[q(x)-p(x)=3x"-3x-1] 4 =[mp(x)—nq(x)=—18 x>+ 15 x - 10]

S=[p(x)q(x)=4x"=3x"+24x° — 15x+20] 6=[[p(x) P =x"+10x"+25]
Ans3=[p(x)q(x)=x"+6xX = 5x +6x +34x" - 42x+10]
Ansd =[a+b=-7T,ab=-8], , AnsS=[a=-4,b=2,ab=-8]
Ans6=[P(x)=x"+2x =7x* = 10x+3]
']:[Q(x):3x4_4x3_4x2+3x+2} .2:[ Qx)=3x-4 }
R(x)=3 R(x)=—4x" +3x"+2x+3
'4:[Q(x)=x3+6x2+18x+53}
R(x) =163

6_[Q(x)=x3+5}
7L R(x)=0

Ans2 =

Ans7 = Qx) =x }

'3:[R(x)=7x—4

5_[Q(x):4x3+8x}
" LR(x)=16x+3
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RealOl Answers for No.10438

X
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Ansl =[a=-2,b=0,c=5]

.1=[p(x)+q(x)=4x2—4x+3] .2=[p(x)—q(x)=—2x2+4x—l]
Ans2 = 3=[q(x)-p(x)=2x"-4x+1] 4=[mp(x)-nq(x)=-11x>+20x-6]
S=[p(x)q(x)=3x"-4x+5x" - 4x+2] G6=[[p(x)P=x"+2x"+1]

Ans3=[p(x) q(x)=x*+6x = 11x* =36 x + 34 x* + 24 x - 20]
Ansd =[a+b=10,ab=21], , AnsS=[a=7,b=5,ab=35]
Ans6=[P(x)=x"—6x +3x"—15x+5]

_1_[Q(x)=2x3+x2—3x—1} 2_[ Q(x)=2x+]1 }
T R(x)=-2x-1 o R(x):—3x3—x2—2x—l
_ ~ Q(x)zx} _[Q(x)=x3+5x2+12x+24}
Aan7= ’3_[R(x)=7x—2 4= R(x) =44
5_[Q(x):3x3+6x} 6_[Q(x):x3+2}
L "LR(x)=12x-2 7L R(x)=-6 |
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RealOl Answers for No.11352
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Ansl =[a=3,b=2,c=-1]

.]=[p(x)+q(x)=3x2+5x—2] .2=[p(x)—q(x)=—x2—5x—4]
Ans2 = 3= [q(x)—p(x):x2+5x+4] 4= [mp(x)—nq(x):—x2— 10x—11]
S=[p(x)qx)=2x"+5x-5x"=15x-3] 6=[[p(x)P=x"-6x"+9]

Ans3=[p(x)q(x)=x’+9x° +16x' - 12X’ +3x* +9x - 6]
Ansd=[a+b=-5,ab=-36], , AnsS=[a=-5,b=7,ab=-35]
Ans6=[P(x)=x"—4x +6x*=20x+5]
_.]:[Q(x):5x3+x2—x+2} .2:[ Q(x):35x+21 }
R(x)=-3 R(x)=—x"+2x"-3
ns7 = _3:[ Q(x)=x } '4:[Q(x):x3+3x2+6x+9}

R(x)=—-6x+7 R(x) =20
5_[Q(x):2x3+2x} 6_[Q(X)=x3+4}
L T L Rx)=2x+5 7L R(x)=-2 |
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RealOl Answers for No.11778

Ansl =[a=-1,b=2,c=5]

.]=[p(x)+q(x)=3x2+x—4] .2=[p(x)—q(x)=—x2—x+6]
Ans2 = 3=[q(x) = p(x)=x"+x-6] 4 =[mp(x) - nq(x) =—7x* -5 x+ 28]
S=[p(x)gx)=2x"+x =3x"+x-5] H=[[p(x)P=x"+2x"+1]
Ans3=[p(x)q(x)=x"+10x +22x* = 12 =2 x* =8 x + 4]
Ansd=[a+b=4,ab=-45], , AnsS=[a=6,b=2,ab=12]

Ans6=[P(x)=x4—x3+7x2—2x+1]

]:[Q(x)=3x3—2x2+2x—1} 2:{Q(x):3x2—2x+2:|
. R(x)=4x-4 . R(x)=—x"+4x—4
dns7 < .3:[ Q(x)=x } '4:[Q(x)=x3+2x2—6x+20}
R(x)=5x-1 R(x)=-59
5:[Q(X)=3x3—331 6:[Q(x)=x3+6}
i R(x)=3x+2 ' R(x) =23 i
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RealOl Answers for No.12403

Ansl =[a=-3,b=3,c=-2]

.1=[p(x)+q(x)=4x2—x—7] 2=[p(x)-q(x)==2x"+x-3]
Ans2 = 3=[q(x)-p(x)=2x"—x+3] 4=[mp(x)-nq(x)=—4x"+3x—-19]
S=[p(x)q(x)=3x"—x—17x"+5x+10] 6=[[p(x)F=x"-10x*+25]

Ans3=[p(x)q(x)=x"-2x"—10x +13x*+ 10 x - 10]
Ansd=[a+b=-1,ab=-30], , AnsS=[a=7,b=3,ab=21]
Ans6=[P(x)=x"+3x —2x"-2x+5]

_]_[Q(x)=2x4+4x3—3x2+x+3} 2_[ Q(x)=2x+4 }

T R(x)=-3 o R(x):—3x3+x2+3x—3

- [ Qx)=x } _[Q(x):x3+7x2+l9x+60}
Ans7 = & _[R(x) - 3x-1 4= R(x)=177
5_[Q(x):4x3+4x} 6_[Q(x):x3+4}

L L R(x)=4x-5 7L R(x)=-2 ]
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RealOl Answers for No.12456

Ansl=[a=-1,b=-4 c=-4]

.]=[p(x)+q(x)=4x2+5x—7] .2=[p(x)—q(x)=—2x2—5x—3]
Ans2 = .3:[q(x)—p(x)=2x2+5x+3] .4=[mp(x)—nq(x):—x2— 10x—21]
S=[p(x)q(x)=3x"+5x-17x*=25x+10] 6=[[p(x)] =x"—10x"+25]

Ans3=[p(x)q(x)=x"+2x =3x =10’ +3x" + 12x + 15]
Ansd=[a+b=2,ab=-8], , AnsS=[a=-7,b=5,ab=-35]
Ans6=[P(x)=x4—3x3—x2+7x+1]

]:[Q(x)=2x3+3x2—2x—2} 2:[Q(x):2x2+3x—2}
' R(x)=-4x-1 TR =24 -4x-1
Ans7 — .3:[ Q(x)=x } .4:[Q(x)=x3+8x2+27x+85}
R(x)=-5x-7 R(x) =253
5:[Q(x)=4x3— 12)1 6:[Q(x)=x3+4}
L R(x)=36x-3 ' R(x)=0 il
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RealOl Answers for No.12545

X
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AI’lS]:[a:-l,b:-4,c:4]

.1=[p(x)+q(x)=5x2—2x+4] .2=[p(x)—q(x)=—3x2+2x+6]
Ans2 = 3=[q(x)-p(x)=3x"-2x-6] 4=[mp(x)-nq(x)=—10x"+ 6 x+ 13]
S=[p(x)qx)=4x"-2x"+19x" - 10x - 5] 6=[[p(x)] =x"+10x% +25]

Ans3:[p(x)q(x):x6—2x5+7x4—4x3+ 15x% - 10 x +25]
Ansd=[a+b=-8,ab=7], , AnsS=[a=4,b=5,ab=20]
Ans6=[P(x)=x4—7x3+x2—5x—3]

_1_[Q(x)=4x3+4x2+3x+3} 2_[ Q(x)=4x+4 }
T R(x)=-3x+4 o R(x):3x3+3x2—3x+4
_ | Q)=x _Q(x):x3+x1

Ans7 = '3_[R(x)=—4x—5} '4_[ R(x)=4
5_[Q(x)=3x3—3x} 6_[Q(x):x3+4}
i L R(x)=3x+2 UL R(x)=2 ]
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3]
.2=[p(x)—q(x)=—3x2+4x— 1]
4=[mp(x)-nq(x)=-3x"+8x+10]
G6=[[p(x)=x"+8x"+16]

Real0l Answers for No.12583
Ansl =[a=-5,b=3,c=

d=[p(x)+q(x)=5x"-4x+9]
Ans2 = 3=[q(x)-p(x)=3x"-4x+1]
S=[p(x)qx)=4x'—4x +21 X~ 16 x+20]
Ans3=[p(x)q(x)=x"+8x +13x —6x" +24x — 18]

Ansd =[a+b=-4,ab=-12], , AnsS5=[a=4,b=5,ab=20]

Ans6=[P(x)=x"+2x =3 x"—x-2]

_]:[Q(x):5x4—3x3+2x—1} 2:[Q(x):5x2—3x]
’ R(x)=0 LR =24 —x
_ | Qx)=x _Q(x)=x3—3}
Ans7 = '3_[R(x):6x+3} .4—[ R(x)=4
5_[Q(X)=3x3+3x} 6_[Q(x)=x3+2}
Tl R(x)=3x-2 7L R(x)=-6 ]

X [Page = 0016] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXKKKKKKKXXXXKKKKKKKK XXX KKK KKK KKK XX KX KKK KKK KKK KKK KKKKKKK




X Math@MUT XXXXXXXXXXXXXXXXKXXXXXXXXXXX XXX XXX XXX XXX KKK KKK KKK KKK KKK KKK KKK KKK KKK XXX KKK KKK KKXXXKXXKXKXXMEL /2-6400103-00017XX
RealOl Answers for No.12589

Ansl =[a=2,b=1,c=3]

.1=[p(x)+q(x)=3x2+4x—5] .2=[p(x)—q(x)=—x2—4x+ 1]
Ans2 = 3=[q(x)-p(x)=x’+4x—-1] 4=[mp(x)-nq(x)=-7x"—20x+9]
S=[p(x)qx)=2x"+4x -7x" —8x+6] 6=[[p(x)=x"—4x"+4]

Ans3:[p(x)q(x):x6+4x5—5x4—8x3+8x2+8x—6]
Ansd=[a+b=-3,ab=-4], , AnsS=[a=-2,b=6,ab=-12]
Ans6=[P(x)=x"+2x -7x*-9x-3]

—]_[Q(x)=5x4+x3+4x2+x} 2_[ Q(x)=5x+1 }
T R(x)=-1 o R(x):4x3+x2—1
_ | Q)=x } _{Q(x):x3—2x2+9x—27}
Ans7 = 3 _[R(x)=—2x—5 4= R(x) =179
5_[Q(X)=3x3—9x} 6_[Q(X)=x3+8}
L LR(x)=27x-2 7L R(x)=27 i
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RealOl Answers for No.12596

Ansl =[a=-1,b=-4,c=1]

d=[p(x)+qx)=5x"-3x+3] 2=[p(x)-q(x)==3x"+3x+7]
Ans2 = 3=[q(x)-p(x)=3x"-3x-7] 4=[mp(x)—nq(x)=—-13x"+ 12 x +23]
S=[p(x)qx)=4x"-3x"+18x"~ 15x-10] 6=[[p(x) P =x"+10x"+25]

Ans3 =[p(x) q(x):x6—x5—8x4—4x3—5x2+ 15x+10]
Ansd=[a+b=10,ab=16], , AnsS=[a=1,b=4,ab=4]
Ans6=[P(x)=x"+4x -6x*—19x+6]

_1_[Q(x):3x4—3x3+4x2+4x—1} 2_[ Q(x)=3x-3 I
T R(x)=3 o R(x):4x3+4x2—x+3
_ | Qx)=x _Q(x):x3—x2+3}
Ans7 = '3_[R(x)=—2x+2} '4_[ R(x)=-11
5_[Q(X)=3x3—3)ﬂ 6_[Q(x)=x3+3}
. L R(x)=3x+5 L R(x)=38 ]
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RealOl Answers for No.12620

Ansl =[a=-3,b=-4,c=0]

.1=[p(x)+q(x)=5x2—3x—6] .2=[p(x)—q(x)=—3x2+3x+2]
Ans2 = 3=[q(x)-p(x)=3x"-3x-2] 4=[mp(x) - nq(x) =-8x*+9x+4]
S=[p(x)q(x)=4x"-3x —12x" +6x+8] 6=[[p(x)=x"—4x" +4]

Ans3=[p(x)q(x)=x"+10x*+20x’ =27x* = 10x + 10]
Ansd=[a+b=-1,ab=-6], , AnsS5=[a=-6,b=3,ab=-18]
Ans6=[P(x)=x"—7x =5x"+40x + 3]

_]_[Q(x)=2x4+3x3+2x2+3x+2} 2_[ Q(x)=2x+3 }

T R(x)=-2 o R(x):2x3+3x2+2x—2

_ _ Q(x)zx} _[Q(x):x3+5x2+13x+29}
Ans7 = '3_[R(X)=—x+4 7= R(x) =56
5_[Q(x)=2x3+4x} 6_[Q(x)=x3+7}

i L R(x)=8x+5 7L R(x)=16 ]
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RealOl Answers for No.12651

Ansl=[a=-1,b=-1,c=-4]

I=[p(x)+q(x)=4x"—4x+2] 2=[p(x)-q(x)=—2x"+4x+8]
Ans2 = 3=[q(x)-p(x)=2x"-4x-28] 4=[mp(x)—nq(x)=-9x"+ 16 x +27]
S=[p(x)qx)=3x"—4x +12x° - 20x - 15] 6=[[p(x) P =x"+10x"+25]

Ans3=[p(x) q(x)=x*-4x =x*"+10x° +4x* - 8x-20]
Ansd=[a+b=-2,ab=-8], , AnsS=[a=7,b=6,ab=42]
Ans6=[P(x)=x"—5x +6x"—28x—5]

_]_[Q(x)=3x4—4x3+3} 2_[Q(x)=3x2—4x} |
o R(x)=1 Tl R(x)=3x+1
_ | Q) =x - Q(x):x3+6x2+l6x+33}
Ans7 = '3_[R(x)=x—6} '4_[ R(x)=70
5_[Q(x):4x3+12x} 6_[Q(x):x3+3}
. 7 L R(x)=36x-5 7L R(x)=0 ]
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RealOl Answers for No.12675

X
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Ansl =[a=5,b=4,c=-2]

v =[p(x)+q(x)=3x2+x+2] .2=[p(x)—q(x)=—x2—x+8]
Ans2 = 3=[q(x)-p(x)=x"+x-8] 4=[mp(x)—nq(x)=-5x"-4x+27]
S=[px)q(x)=2x"+x +7x +5x-15] 6=[[p(x)=x"+10x>+25]

Ans3=[p(x)q(x)=x*-2x"+x*+10x° =28 x* =4 x + 12]
Ans4d=[a+b=-13,ab=36], , AnsS=[a=-2,b=6,ab=-12]
Ans6=[P(x)=x"+7x =3x" = 19x+1]

_]_[Q(x):3x4+4x3+3x2} _[Q(x)=3x+4}
T R(x)=-2 TIR(x)=3x"-2
_ | Qx)=x } _[Q(x):x3—2x2+10x—34}
Ans7 = 3 _[R(x) 3y 4= R(x) = 101
5_[Q(x)=2x3+6x} 6_[Q(X)=x3+8}
L L R(x)=18x-3 7L R(x)=27
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RealOl Answers for No.12684

AnS]I[aZI’b:-Z’c:4]

.1=[p(x)+q(x)=3x2+5x—4] .2=[p(x)—q(x)=—x2—5x—2]
Ans2 = 3=[q(x)-p(x)=x"+5x+2] 4=[mp(x)-ng(x)=-8x" —25x—1]
S=[px)qx)=2x"+5x-7x = 15x+3] 6=[[p(x)P=x"-6x"+9]

Ans3=[p(x)q(x)=x=5x"+11x =28 x>+ 20 x + 10]
Ansd=[a+b=3,ab=-18], , AnsS=[a=-5,b=3,ab=-15]
Ans6=[P(x)=x"+6x +5x"+35x—7]

]:[Q(x)=x3—3x—l} 2:[ Q(x) =3 }
' R(x)=-4x ) R(x)=—x2—4x
Ans7 = _3:[ Q(x) =x } '4:[Q(x)=x3+8x2+27x+81}
R(x)=5x+6 R(x) =246
5:[Q(x)=3x3+3)1 6:[Q(x)=x3+5}
L R(x)=3x-2 ' R(x)=18 i
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RealOl Answers for No.12693

Ansl =[a=3,b=-1,c=1]
J=[p(x)+q(x)=5x"+3x-3]
3=[q(x)-p(x)=3x"+3x+5]

S=[p(x)qx)=4x"+3x - 15x" - 12x—4]

.2=[p(x)—q(x)=—3x2—3x—5]
4=[mp(x)-nq(x)=-13x>-12x-16]
G6=[[p(x)=x"-8x"+16]

Ans3=[p(x)q(x)=x"—4x" =16 x’ +26 x> + 4x — 8]

Ans2 =

Ansd=[a+b=-8,ab=-9], , AnsS=[a=-2,b=1,ab=-2]
Ans6=[P(x)=x"+6x —x*—4x+3]

_]_[Q(x)=5x4+4x2—1} 2_[Q(x)=5x2+4} l
o R(x)=0 Tl R(x)=—x

_ | Qx)=x } _[Q(x):x3+5x2+l7x+54}
Ans7 = '3_[R(x)=—3x—1 4= R(x)= 165
5_[Q(x)=3x3—6x} 6_[Q(X)=x3}

L 7 LR(x)=12x+5 7 LR(x)=2 ]
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RealOl Answers for No.12705

Ansl =[a=-1,b=0,c=-4]

I=[p(x)+q(x)=5x"—x—4] 2=[p(x)-q(x)=-3x"+x+2]
Ans2 = .3:[q(x)—p(x):3x2—x—2] .4:[mp(x)—nq(x):—16x2+5x+11]
S=[p(x)qx)=4x"—x = 7x* +x+3] H=[[p(x)P=x"-2x"+1]
Ans3=[p(x)q(x)=x—6x =5x* +18x° +9x" - 18 x — 6]
Ansd=[a+b=-2,ab=-24], , AnsS=[a=3,b=5,ab=15]

Ans6=[P(x)=x"-2x"+7x*-9x—-1]

_1_[Q(x)=x4—x3—3x2—4} 2_[Q(x)=x2—x—3} 1
o R(x)=-4 Tl R(x)=4x—4
_ | Qx)=x _Q(x):x3+7x2+10x+20}
Ans7 = '3_[R(x)=3x—7} .4—[ R(x) = 36
5_[Q(x):3x3+3x} 6_[Q(x):x3+2}
L L R(x)=3x-2 Tl R(x)=-4 |
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RealOl Answers for No.12708

Ansl=[a=4,b=-2,c=-4]

.1=[p(x)+q(x)=3x2—3x+8]

Ans2 = 3=[q(x)-p(x)=x"-3x-2]

S=[p(x)q(x)=2x"-3x +13x" = 15x+15]

.2=[p(x)—q(x)=—x2+3x+2]
4=[mp(x)-nq(x)=x"+6x+19]
6=[[p(x)=x"+10x>+25]

Ans3=[p(x)q(x)=x+2x -3x" +6xX + 16 x* = 10x - 12]

Ans4d=[a+b=13,ab=40],

, AnsS5=[a=5,b=4,ab=20]

Ans6=[P(x)=x'+6x -2x"—8x—7]

]_[Q(x)=3x3—3x2+4x+4
o R(x)=-3

Ans7 = Qx)=x }

:[R(x)=7x—4

5_[Q(x)=2x3—2x}
L R(x)=2x-3

[Page = 0025]

|

.4:{Q(x)=x3—2x2+3x—7}

2_{Q(x):3x2—3x+4} |
L R(x)=4x*-3

R(x)=19
6_[Q(x)=x3+6}
L R(x)=17 i
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RealOl Answers for No.12709

Ansl =[a=-3,b=-5,¢=0]

I=[p(x)+q(x)=3x"=3x+7] .2=[p(x)—q(x)=—x2+3x+ 1]
Ans2 = 3=[q(x)-p(x)=x"-3x—-1] 4=[mp(x)-ng(x)=-7x"+15x-3]
S=[p(x)qx)=2x" =32+ 115" - 12x +12] 6=[[p(x)=x"+8x+16]

Ans3:[p(x)q(x):x6—2x5+2x4+3x3—x2—4x+10]
Ansd=[a+b=-3,ab=-4], , AnsS5=[a=6,b=5,ab=30]
Ans6=[P(x)=x"—7x +5x*=30x+3]

_1_[Q(x)=5x3—2x2—4x—3} 2_[ Q(x)=5x-2 } i
T R(x)=3 o R(x):—4x3—3x2+3
_ | Q) =x ~ Q(x):x3+4x2+9x+29}
Ans7 = '3_[R(x)=4x+6} '4_[ R(x) =86
5_[Q(X)=4x3—8x} 6_[Q(x)=x3+3}
i " LR(x)=16x+5 7L R(x)=0 ]
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RealOl Answers for No.12718

Ansl =[a=1,b=2,c=4]

.1=[p(x)+q(x)=4x2+4x+2] .2=[p(x)—q(x)=—2x2—4x—8]
Ans2 = 3=[q(x)-p(x)=2x"+4x+38] 4=[mp(x)-nq(x)=-13x>=20x-31]
S=[p(x)q(x)=3x"+4x —4x" - 12x-15] 6=[[p(x)=x"-6x"+9]

Ans3=[p(x)q(x)=x"+5x"+12x + 14 x> — 8 x — 24]
Ansd=[a+b=-5,ab=-6], , AnsS=[a=5,b=7,ab=35]

Ans6=[P(x)=x"=5x =3x"+18x+2]
—]:[Q(x):4x3—4x—4} 2:[ Qx)=4x>—4 }
' R(x)=4x-3 T R(x)=4x+4x-3
s .3:[ Q(x)zx} .4:[Q(x):x3+2x2—6x+14}

R(x)=x+2 R(x)=-39
5_[Q(x)=3x3+9x} 6_[Q(x)=x3+5}
L 7 LR(x)=27x+4 L R(x)=8 ]
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RealOl Answers for No.12720

Ansl =[a=4,b=0,c=1]

-1=[p(x)+q(X)=3x2—x+3] .2=[p(x)—q(x)=—x2+x+ 1]
Ans2 = 3=[q(x)-p(x)=x"—x—1] 4=[mp(x)—nq(x)=-2x"+3x+5]
S=[p(x)qx)=2x"-x+5x = 2x+2] 6=[[p(x) =x"+4x"+4]

Ans3=[p(x)q(x)=x"+2x"=27x +10x* = 12 x+ 6]
Ans4d=[a+b=10,ab=9], , AnsS=[a=-4,b=2,ab=-8]

Ans6=[P(x)=x4—x3+3x2—x+5]

_1_[Q(X)=2x4—4x3—4x2+1} 2—[Q(x)=2x2—4x—4} |
T R(x)=-3 o R(x)=x-3
_ _ Q(X)Zx} _[Q(x):x3+5x2+14x+41}
Ans7= ’3_[R(x)=3x+2 4= R(x) =122
5_[Q(x)=2x3—6x} 6_[Q(X)=x3+6}
i L R(x)=18x+3 L R(x)=20
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RealOl Answers for No.12726

X

[Page = 0029]

Ansl =[a=-3,b=4,c=-1]

I=[p(x)+q(x)=3x"+4x+10] 2=[p(x)—q(x)=—x—4x]
Ans2 = 3=[q(x)-p(x)=x"+4x] 4=[mp(x)-nq(x)=-8x>-20x—15]
S=[p(x)qx)=2x"+4x" + 1557 + 20 x +25] 6=[[p(x) P =x"+10x"+25]
Ans3=[p(x)q(x)=x"-8xX + 13x*+10x°’ + 6x* = 18 x — 12]
Ansd=[a+b=1,ab=-12], , AnsS=[a=4,b=5,ab=20]

Ans6=[P(x)=x"+5x -6x"-27x—5]

_1_[Q(x):5x3—2x2+3x—2} 2_[ Q(x)=5x-2 I
T R(x)=2x-1 o R(x):3x3—2x2+2x—1
_ _ Q(X)=x} _[Q(x):xuxuzx_q
Aans7 = '3_[R(x)=x—3 4= R(x)=11
5_[Q(x)=3x3+3x} 6_[Q(x)=x3+4}
i L R(x)=3x-2 L R(x)=-1 ]
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RealOl Answers for No.12758

X
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Ansl =[a=0,b=1,c=-4]

.1=[p(x)+q(x)=4x2—3x—3] .2=[p(x)—q(x)=—2x2+3x—l]
Ans2 = 3=[q(x)-p(x)=2x"-3x+1] 4=[mp(x)-nq(x)=-3x"+6x—4]
S=[p(x)q(x)=3x"-3x-7x +6x+2] 6=[[p(x)=x"—4x"+4]

Ans3=[p(x)q(x)=x*-3x —6x"+5x —9x* — 48 x - 36]
Ansd=[a+b=-2,ab=-3], , AnsS=[a=-3,b=4,ab=-12]
Ans6=[P(x)=x"—4x -5x*+23x+7]

_1_[Q(x):5x3+3x2+x+1} 2_[ Q(x)=5x+3 I
T R(x)=-2x o R(x):x3+x2—2x
_ | Q)=x _Q(x):x3+3}
Ans7 = ’3_[R(x)=—7x+5} ’4_{ R(x)=-6
5_[Q(x)=2x3—2x} 6_[Q(x)=x3+6}
i L R(x)=2x-5 7L R(x)=23 i
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RealOl Answers for No.13127

Ansl =[a=3,b=4,c=1]

v =[p(x)+q(x)=5x2—x+6] 2=[p(x)—q(x)=-3 x2+x+4]
Ans2 = 3=[q(x)-p(x)=3x"—x—4] 4=[mp(x)-nq(x)=-3x"+2x+23]
S=[p(x)qx)=4x"-x +21x*=5x+5] 6=[[p(x)P=x"+10x>+25]

Ans3=[p(x)q(x)=x"+7x"+6x = 14x" =30 x +24]
Ansd=[a+b=T7,ab=6], , AnsS=[a=-2,b=4,ab=-8]
Ans6=[P(x)=x"+xX +6x>+9x-2]

e Q(X)=x4—x3+4} [QGx)=x-1 7
’1_[ R(x)=1 ‘2‘[R(x)=4x+1}

L[ Qx)=x ~ Q(x)=x3+8x2+23x+67}
Ans7 = '3_[R(x)=7x+7} .4—[ R(x) = 199
5_[Q(x):4x3—4x} 6_[Q(x):x3}

L7 L R(x)=4x-5 TTlR(x) =4 |
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RealOl Answers for No.13628

AnS]I[a:3’b:2,c:-4]

I=[p(x)+qx)=5x"+4x+1] 2=[p(x)-q(x)=-3x"—4x+3]
Ans2 = 3=[q(x)-p(x)=3x"+4x-3] 4=[mp(x)—nq(x)=-10x"—12x+7]
S=[p(x)q(x)=4x"+4x° +7x° +8x-2] 6=[[p(x)=x"+4x"+4]

Ans3=[p(x)q(x)=x+3x +2x' =9x =21 x* = 18 x = 30]
Ansd=[a+b=-1,ab=-30], , AnsS=[a=5,b=4,ab=20]
Ans6=[P(x)=x4—5x3—x2+8x—2]
_]:[Q(x)=3x3+x2+x4_2} 2_|:Q(x):3x2+x+1 :|_
’ R(x)=—2x+4 ' R(x)=2x"-2x+4

Ans7 = .3:[ Q(x)=x } '4:[Q(x)=x3+4x—12}

R(x)=-6x-2 R(x)=40
5_[Q(X)=4x3—12x} 6_[Q(X)=x3+2}
L 7 L R(x)=36x-3 L R(x)=-2 |
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RealOl Answers for No.13652

Ansl =[a=1,b=1,c=2]
.1=[p(x)+q(x)=5x2—5x+6] .2=[p(x)—q(x)=—3x2+5x—4]
3=[q(x)-p(x)=3x"-5x+4] 4=[mp(x)-nq(x)=-10x>+15x - 13]

S=[p(x)qx)=4x"-5x+9x" - 5x+5] G6=[[p(x)P=x"+2x"+1]
Ans3=[p(x)q(x)=x"=3x" = 10x’ +20x* + 10 x — 25]
Ans4d=[a+b=10,ab=16], , AnsS=[a=6,b=4,ab=24]
Ans6=[P(x)=x"+4x +2x"+10x—1]

Ans2 =

X

Ans7 =

[Page 0033]

_]_[Q(x)=x3+3x2—2x
o R(x)=x-1

[ Q) =x
'3_[R(x):—x+3:|

5_[Q(x)=2x3+4x}
. 7 L R(x)=8x+5

|

ZZ[Q(X):x2+3x—2} |

.
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R(x)=x-1
Qx)=x"+4x"+8x+15
R(x)=29

_ Q(x)zx?
6_[R(x) =5

|
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RealOl Answers for No.13707

Ansl =[a=3,b=-2,c=1]

.1=[p(x)+q(x)=5x2+5x+6] .2=[p(x)—q(x)=—3x2—5x—2]
Ans2 = 3= [q(x)—p(x):3x2+5x+2] .4:[mp(x)—nq(x):—16x2—25x— 12]
S=[p(x)qx)=4x"+5+12x*+10x + 8] 6=[[p(x)P=x"+4x"+4]
Ans3=[p(x)q(x)=x-2x"+2x -9x* =30 x—-12]
Ansd=[a+b=T7,ab=12], , AnsS=[a=-1,b=5ab=-5]

Ans6=[P(x)=x4—5x3—4x2+22x+5]

_]_[Q(x):x4+2x3+2x2—3x+1} 2_[ Qx)=x+2 ]
T R(x)=0 o R(x):2x3—3x2+x
_ | Qx)=x _ Q(x)zx?

Ans7 = '3_[R(x)=x—7} '4_[R(x)=2
5_[Q(x):3x3+3x} 6_[Q(x):x3—1}
L L R(x)=3x-4 7L R(x)=6 ]
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RealOl Answers for No.644201

Ansl =[a=-2,b=0,c=1]

d=[p(x)+q(x)=5x"-x-2] 2=[p(x)-q(x)=-3x"+x+8]
Ans2 = 3=[q(x)-p(x)=3x"—x—8] 4=[mp(x)—nq(x)=-13x"+4x+29]
S=[px)qx)=4x"-x+7x"=3x-15] 6=[[p(x)=x"+6x"+9]

Ans3=[p(x)q(x)=x"=3x"+x —19x" - 8x+ 16]
Ansd=[a+b=-9,ab=14], , AnsS5=[a=-5,b=6,ab=-30]
Ans6=[P(x)=x"—4x-3x*+16x+3]

]_[Q(x)=x3+x2—4x—4} 2_[ Q(x)=x+1 }
L Rm=3x-1 ] TR =46 -4 -3
Ans7 = 3:[ Qlx) =x } 4:[Q(x)=x3+6x2+14x+24}
’ R(x)=6x-2 ' R(x)=45
5:[Q(x)=3x3—3x} 6:[Q(X)=x3+6}
L R(x)=3x-2 ' R(x) =3 |
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RealOl Answers for No.644202

Ansl =[a=-1,b=-3,c=0]

A= [p(x)+q(x)=3x2—x+6] 2= [p(x)—q(x)=—x2+x+2]
Ans2 = 3=[q(x)-p(x)=x’—x-2] 4=[mp(x)—nq(x)=—6x"+5x+6]
S=[p(x)q(x)=2x" =+ 10x* — 4 x + 8] 6=[[p(x)F=x"+8x+16]

Ans3=[p(x)q(x)=x-9x* +22x - 26 x>+ 6 x — 8]
Ansd=[a+b=5,ab=-6], , AnsS=[a=4,b=3,ab=12]
Ans6=[P(x)=x"—6x -4 x> +26x—1]

_1_[Q(x):2x3+3x2—4x} 2_[ Q(x)=2x+3 }
T R(x)=4x-1 o R(x)=—4x3+4x—1
_ ~ Q(x)zx} _[Q(x)=x3+7x2+16x+29}
Ans7 = '3_[R(x)=—x—7 4= R(x) = 60
5_[Q(x):2x3+6x} 6_{Q(x):x3+5}
. 7 LR(x)=18x-5 7L R(x)=8 |
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X

Ansl =[a=3,b=-5,¢=0]
.1=[p(x)+q(x)=5x2—5x+2] .2=[p(x)—q(x)=—3x2+5x—8]
3=[q(x)-p(x)=3x>-5x+38] 4=[mp(x)-nq(x)=-17 x>+ 25 x — 34]
S=[p(x)qx)=4x"-5x-7x"+15x—15] 6=[[p(x)=x"-6x"+9]
Ans3=[p(x) q(x)=x*+9x +16x*—6x —=5x*=30x+10]
Ansd=[a+b=-4,ab=-5], , AnsS=[a=1,b=3,ab=3]
Ans6=[P(x)=x4+x3—5x2+x—7]

_']:[Q(X)=3x4—3x2+4} 2:[Q(x):3x2—3} |

Ans2 =

R(x)=-1 R(x)=4x-1

~ [ Qx)=x _Q(x):x3+8x2+24x+74}
Ans7 = ’3_[R(x):3x—1} '4_[ R(x) =226
5_[Q(x):4x3—12x} 6_[Q(x):x3+6}

L7 L R(x)=36x-3 L R(x)=10 ]

[Page = 0037]

):0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:0:9.0:0:0.0:9:9.0:0:9.0:0:0.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:¢



X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXXXXX XXX XXX XXX KKK XXX XXX XXX XXX X XXX XXX XK XXXXKXKXKXXME /2-6400103-00038XX
RealOl Answers for No.644204

Ansl =[a=-2,b=3,c=0]

J=[p(x)+qx)=3x"-x+1] 2=[p(x)—q(x)=—x"+x+5]
Ans2 = 3=[qx)-p(x)=x"—x-5] 4=[mp(x)-nq(x)=—4x"+3x+12]
S=[p(x)qx)=2x"-x+4x*-3x—-6] 6=[[p(x)=x"+6x"+9]

Ans3=[p(x)q(x)=x"+11x*"+24x —41x* = 25x +30]
Ansd=[a+b=-3,ab=2], , AnsS=[a=5,b=3,ab=15]
Ans6=[P(x)=x'+2x -3x —x+7]

' 1_[Q(X)=4x4—x2} 2_[ Q(x)=4x }
L R(x)=2 TR == +2
L] Q) =x ~ Q(x):x3+4x2+11x+30}
Ans7 = '3_[R(x)=—x—7} .4—[ R(x)= 88
5_[Q(x)=3x3—691 6_[Q(x)=x3+4}
|7 LR(x)=12x+5 7L R(x)=0 ]
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Ansl =[a=-1,b=-2,c=0]

J=[p(x)+q(x)=3x"—-x—1] 2=[p(x)-q(x)=—=x"+x+3]
Ans2=| 3=[q(x)-p(x)=x"-x-3] 4=[mp(x)-nq(x)=-2x"+3x+10]
S=[p(x)qx)=2x"—x—x-2] H=[[p(x)=x"+2x*+1]

Ans3=[p(x) q(x)=x’+x = 12X + 6 x* + 18 x + 36]
Ansd=[a+b=-5,ab=-6], , AnsS=[a=-2,b=3,ab=-6]
Ans6=[P(x)=x"=3x+2x"-2x+1]

_1_[Q(x):5x3—x2—4x} 2_[Q(x):5x2—x—4} |
T R(x)=1 o R(x)=1
~ | Q)=x _Q(x)=x3+3x2+6x+8}
Ans7 = '3_[R(x)=—3x+4} '4_[ R(x)=18
5_[Q(x)=2x3+491 6_[Q(X)=x3+7}
. 7 L R(x)=8x+5 7L R(x)=38 ]
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Ansl =[a=2,b=4,c=3]

.1=[p(x)+q(x)=5x2—5x+2] .2=[p(x)—q(x)=—3x2+5x]
Ans2 = 3=[q(x)—p(x)=3x"—5x] 4 =[mp(x)-nq(x)=-16x"+25x—1]
S=[p(x)qx)=4x"-5x+5x"=5x+1] G6=[[p(x)P=x"+2x"+1]

Ans3=[p(x)q(x)=x-2x"=27x = 17x* +30x + 15]
Ansd=[a+b=11,ab=28], , AnsS=[a=-4,b=2,ab=-8]

Ans6=[P(x)=x"+3x +6x*+20x—7]
_]:[Q(x):x3—x—2} 2:[ Q(x)=x"—1 } |
' R(x)=—x+2 ' R(x)=—2x"—x+2
s .3:[ Q(x)=x } '4:[Q(x):x3+5x2+14x+43}

R(x)=-3x-3 R(x)=130
5_[Q(X)=4x3—12x} 6_[Q(x)=x3+9}
|7 L R(x)=36x-3 7L R(x)=22 |
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RealOl Answers for No.644207
Ansl =[a=-2,b=-1,c=4]
.2=[p(x)—q(x)=—2x2—2x—8]
4 =[mp(x)-nq(x)=—x"—4x-25]
6=[[p(x)=x"-6x"+9]

.]=[p(x)+q(x)=4x2+2x+2]
3=[q(x)-p(x)=2x"+2x+38]
S=[p(x)qx)=3x"+2x —4x"—6x-15]

Ans3=[p(x)q(x)=x’+4x - 10x*+ 12X’ -3x* +6x - 6]
, AnsS=[a=-6,b=T7,ab=-42]

Ans2 =

Ansd=[a+b=-3,ab=-40],
Ans6=[P(x)=x"—4x -3x"+14x+7]

_1_[Q(x):5x4+4x3+x2+4x—3} 2_[ Qx)=5x+4 I
T R(x)=1 o R(x):x3+4x2—3x+1
_ | Qx)=x ~ Q(x):x3+x2—x}
Ans7 = '3_[R(x)=—2x—7} .4—{ R(x)=1
5_[Q(x):4x3+8x} 6_[Q(x):x3+1}
"L R(x)=16x-5 7L R(x)=3 i

):0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:0:9.0:0:0.0:9:9.0:0:9.0:0:0.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:¢

X [Page = 0041]




D ERVERHNCIVISENED $.0:0:0.0:0:0.0.0:0.0.0:0.0.0:0.0:0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.9:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.9:0.0.9:0.0.0:0.0 ¢ W EX VA N O NN ICEX O N0 10 1752570 ¢
RealOl Answers for No.644208

X
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Ansl=[a=-2,b=-1,c=-4]

.1=[p(x)+q(x)=4x2+2x+6] .2=[p(x)—q(x)=—2x2—2x+4]
Ans2 = ,3:[q(x)—p(x):2x2+2x—4] .4:[mp(x)—nq(x):—3x2—4x+ 13]
S=[p(x)q(x)=3x"+2x"+16x° +10x+5] 6=[[p(x)] =x"+10x% +25]

Ans3=[p(x) q(x)=x’+6xX —6x" +3x +20x -6 x— 12]
Ansd=[a+b=13,ab=42], , AnsS=[a=4,b=2,ab=28]
Ans6=[P(x)=x"=5x -7x*+40x 3]
'_,:{Q(x):4x3_x2+zx} '2:[ Q) =41 }
R(x)=—4x-1 R(x)=2x" -4x-1
ms7 '3:[ Q(x)=x } '4:[Q(x):x3+7x2+17x+37}

R(x)=x+6 R(x)=71
5_[Q(x)=2x3+491 6_[Q(X)=x3+6}
. 7 L R(x)=8x+5 7L R(x)=10
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Ansl =[a=0,b=0,c=-2]

.1=[p(x)+q(x)=4x2+2x—l] .2=[p(x)—q(x)=—2x2—2x+9]
Ans2 = 3=[q(x)-p(x)=2x"+2x-9] 4=[mp(x)-ng(x)=-5x"—6x+31]
S=[p(x)qx)=3x"+2x"+7x" +8x-20] 6=[[p(x)=x"+8x"+16]
Ans3=[p(x)q(x)=x"—6x"=2x - 14x" —39x-20]
Ansd=[a+b=-5,ab=4], , AnsS=[a=T7,b=5,ab=35]

Ans6=[P(x)=x"-3x +7x* - 19x—-3]

_IZ[Q(X)=2X4+3x3—4x2—x—2} 2:[ Q(x)=2x+3 }
' R(x)=2 ' R(x):—4x3—x2—2x+2
_ _ Q(x)=x} _[Q(x):x3+x2+x—4}
Aan7= 7 ‘[Ru) —x-3 42T TRy =11
5_[Q(x)=3x3+9x} 6_[Q(x)=x3}
L " LR(x)=27x-5 T R(x) =55 i
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Ansl =[a=1,b=-4,c=1]

.]=[p(x)+q(x)=4x2+2x] .2=[p(x)—q(x)=—2x2—2x+4]
Ans2 = 3=[q(x)-p(x)=2x"+2x—4] 4=[mp(x)-nq(x)=-7x"—8x+ 18]
S=[p(x)qx)=3x"+2x"+4x" +4x—4] 6=[[p(x)P=x"+4x"+4]
Ans3 =[p(x) q(x):x5+2x4—3x3+7x2—4x— 15]
Ansd=[a+b=6,ab=-27], , AnsS=[a=1,b=4,ab=4]

Ans6=[P(x)=x'+2x -7x = 11x+7]

_]_[Q(x)=5x4—x3+x2+4x—3} 2_[ Q(x)=5x-1 I

T R(x)=4 o R(x):x3+4x2—3x+4

_ | Qx)=x _Q(x):x3+x2—3x+l2}
Ans7= ’3_[R(x)=4x+6} ’4_[ R(x) = -39
5_[Q(x):3x3+3x} 6_[Q(x):x3+5}

L L R(x)=3x-5 7L R(x)=0 ]
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Ansl =[a=2,b=0,c=1]

.1=[p(x)+q(x)=5x2—5x—2] .2=[p(x)—q(x)=—3x2+5x]
Ans2 = 3=[q(x)—p(x)=3x"—5x] 4 =[mp(x)-nq(x)=—10x"+ 15x+1]
S=[p(x)qx)=4x"=5x -5 +5x+1] G6=[[p(x)P=x"-2x"+1]

Ans3=[p(x) q(x)=x+6x +12x —=10x* =36 x + 12]
Ans4d=[a+b=-13,ab=36], , AnsS=[a=2,b=1,ab=2]
Ans6=[P(x)=x"—7x +3x* - 18x+5]

_1_|:Q(X)=x4—x3+2x2—4x+2} 2_[ Q(x)=x-1 ]
T R(x)=0 o R(x):2x3—4x2+2x
_ | Qx)=x _ Q(x)=x3+x2+2x—3}
Ans7 = '3_[R(x)=5x+5} ’4_{ R(x)=5
5_[Q(x)=2x3+4x} 6_[Q(x)=x3+4}
L L R(x)=8x+3 Tl R(x)=-7 |
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Ansl =[a=-3,b=0,c=0]

.1=[p(x)+q(x)=3x2+2x] .2=[p(x)—q(x)=—x2—2x+2]
Ans2 = 3=[q(x)-p(x)=x"+2x-2] 4=[mp(x)-ng(x)=—-x"—6x+8]
S=[p(x)gx)=2x"+2x+x"+2x-1] G6=[[p(x)P=x"+2x"+1]
Ans3=[p(x)q(x)=x—4x*' =10’ +19x* + 12 x — 18]
Ansd=[a+b=-5,ab=-14], , AnsS=[a=7,b=2,ab=14]

Ans6=[P(x)=x4+7x3+x2+9x—1]
]:[Q(m:sf—zﬁ—ﬂ 2_[ Qx)=52-2x }
' R(x)=-2x+4 T R(x)=—4x—2x+4
Ans7 = .3:[ Q(x) =x } '4:[Q(x):x3+6x2+14x+40}

R(x)=-5x+6 R(x)=124
5_[Q(x)=3x3—6x} 6_[Q(X)=x3+1}
. 7 LR(x)=12x-4 7L R(x)=-4 |
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Ansl =[a=2,b=0,c=3]

I=[p(x)+q(x)=5x"+x-6] 2=[p(x)-q(x)=-3x"—x+2]
Ans2 = 3=[q(x)—-p(x)=3x"+x-2] 4=[mp(x)-nq(x)=-7x" —3x+2]
S=[p(x)qx)=4x"+x —12x =2 x+8] 6=[[p(x) =x"—4x"+4]

Ans3=[p(x)q(x)=x"-2x"-2x -2x* =36 x-36]
Ansd=[a+b=14,ab=45], , AnsS=[a=2,b=3,ab=06]
Ans6=[P(x)=x"—2x +4x = 2x+7]

_ I_[Q(x)=3x3+2} 2_[ Q(x)=3x }
L R(x)=-4 TR =2x"—4
| .| Q)=x ~ Q(x):x3—x2+4x—12}
Ans7 = '3_[R(x)=—x+5} .4—{ R(x) =20
5_[Q(x)=2x3+4x} 6_[Q(x)=x3+7}
7 L R(x)=8x+5 7L R(x)=18
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Ansl=[a=4,b=-3,c=-4]

A= [p(x)+q(x)=3x2+2x— 10] .2=[p(x)—q(x)=—x2—2x]
Ans2 = 3=[q(x)-p(x)=x"+2x] 4=[mp(x)-nq(x)=—2x"—6x—-5]
S=[p(x)qx)=2x"+2x=15x* =10 x +25] 6=[[p(x)P=x"-10x>+25]
Ans3=[p(x) q(x)=x"+2x +2x" +8x = 12x° - 8 x + 8]
Ansd=[a+b=-2,ab=-8], , AnsS=[a=2,b=T,ab=14]

Ans6=[P(x)=x"+2x +4x*+12x-1]

]:[Q(X)ZX4—4X3—3x2—x—3} QZ[Q(X)=x2—4x—3}
' R(x)=0 ' R(x)=—x"-3x
Ans7 = .3:[ Q(x)=x } '4:[Q(x)=x3+7x2+25x+74}
R(x)=—4x+7 R(x) =220
5:[Q(x)=2x3—4)1 6:[Q(x)=x3+5}
L R(x)=8x-3 ' R(x)=6 |
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Ansl =[a=1,b=-3,c=-3]

.1=[p(x)+q(x)=4x2—2x+5] .2=[p(x)—q(x)=—2x2+2x+1]
Ans2 = 3=[q(x)-p(x)=2x"-2x-1] 4=[mp(x)-nq(x)=—12x"+10x - 1]
S=[p(x)q(x)=3x"-2x"+11x>—6x+6] 6=[[p(x)P=x"+6x"+9]

Ans3 =[p(x) q(x):x5—2x4—7x3+9x2+6x—12]
Ansd=[a+b=-6,ab=-7], , AnsS=[a=5,b=4,ab=20]
Ans6=[P(x)=x"+5x —6x*—25x—4]

]:[Q(x)=x3—2x2—4x+4} 2:[Q(x):x2—2x—4}
' R(x)=-4x+4 ' R(x)=4x"-4x+4
Ans7 = '3:[ Q(x)=x } '4:[Q(x)=x3+2x2—6x+20}
R(x)=6x-2 R(x)=-57
5:[Q(X) =32 - 3x} 6:[Q(x)=x3}
L R(x)=3x+4 ' R(x)=5 |
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Ansl =[a=3,b=2,c=-3]

.]=[p(x)+q(x)=3x2+x—7] .2=[p(x)—q(x)=—x2—x+3]
Ans2 = 3=[q(x)—p(x)=x"+x—3] 4=[mp(x)-nq(x)=-7x*—5x+19]
S=[p(x)qx)=2x"+x = 9x" = 2x+10] 6=[[p(x) =x"—4x"+4]
Ans3=[p(x)q(x)=x"+2x" = 13x =2 x*+20x + 8]
Ansd=[a+b=-2,ab=-15], , AnsS=[a=7,b=4,ab=28]

Ans6=[P(x)=x"—6x"+4x*=20x +3]

_1_[Q(x):4x3—4x2+3x} 2_[ Q(x)=4x—4 }
T R(x)=—4x-1 o R(x):3x3—4x—1
_ _ Q(x)=x} _[Q(x)=x3+8x2+21x+59}
Ans7 = '3_[R(x)=x+4 4= R(x)= 181
5_[Q(x):2x3+2x} 6_[Q(x):x3+6}
. 7 L R(x)=2x+5 7L R(x)=38 |
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Ansl =[a=3,b=0,c=0]

.1=[p(x)+q(x)=4x2+4x—7] .2=[p(x)—q(x)=—2x2—4x— 1]
Ans2 = 3=[q(x)-p(x)=2x"+4x+1] 4=[mp(x)-nq(x)=-12x>-20x+3]
S=[p(x)qx)=3x"+4x 1557~ 16x + 12] 6=[[p(x)]=x"-8x"+16]

Ans3 =[p(x) q(x):x5+2x4—8x3—5x2+25x— 15]
Ansd =[a+b=17,ab=72], , AnsS=[a=-6,b=3,ab=-18]
Ans6=[P(x)=x"-2x -x"+6x—3]

_IZ[Q(X)=3X4—2x3—4x+2} 2:[ Qx)=3x"-2x }
' R(x)=4 “TIR() =4 421+ 4
. _| Q0= _Q(x)=x3+x2—3X+4}
Ans7 = '3_[R(x):7x—1} ,4_[ R(x) <7
5_[Q(x)=3x3+3x} 6_[Q(X)=x3+3}
. L R(x)=3x+4 7L R(x)=-10 ]
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Ansl =[a=1,b=-1,c=-3]

.]=[p(x)+q(x)=4x2—x+2] .2=[p(x)—q(x)=—2x2+x+6]
Ans2 = 3=[q(x)-p(x)=2x"-x—-6] 4=[mp(x)-nq(x)=-7x"+3 x+ 14]
S=[p(x)qx)=3x"-x+10x"—4x-8] G6=[[p(x)P=x"+8x"+16]
Ans3:[p(x)q(x):x6+x5—23x4—15x3+2x2—8x—6]
Ansd=[a+b=-3,ab=-54], , AnsS=[a=-7,b=2,ab=-14]
Ans6=[P(x)=x4+5x3+x2+7x—1]
_]:[Q(x):x4+x3+2x2} ZZ[Q(X):X"'I}
' R(x)=0 ' R(x)=2x"
X)=x x)=x -2x"+5x-13
Ans7 = '3:[11(3(:17“3} '4:[()() R(x) =42 }
.5:[Q(x):3x3—3x} '6:[Q(x):x3+6}
L R(x)=3x-5 R(x)=9 J
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Ansl =[a=1,b=-3,c=4]
.]=[p(x)+q(x)=5x2+x—5] .2=[p(x)—q(x)=—3x2—x+ 1]
Ans2 = 3=[q(x)-p(x)=3x"+x—1] 4=[mp(x)-nq(x)=-5x"-2x]
S=[p(x)qx)=4x"+x—11x*=2x+6]  .6=[[p(x)=x"—4x"+4]
Ans3=[p(x)q(x)=x"-x —=24x" =16 x +3x" = 15x - 12]
Ansd=[a+b=-T,ab=10], , AnsS=[a=2,b=T,ab=14]
Ans6=[P(x)=x"+4x +5x" +26x—7]

_]:[Q(x)=3x4+2x2_x+3} 2:[ Q) =324 2 } ;
' R(x)=3 T [R(x)=="+3x+3
_ _ Q(x)=x} _[Q(x)=x3+x2—6x+18}
An? 7 _[R(x) =2x-1 4= R(x)=-53
5_[Q(x)=4x3+12x} 6_[Q(x)=x3+l}
L L R(x)=36x-5 7L R(x)=2 |
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Ansl =[a=0,b=-2,c=-4]

v =[p(x)+q(x)=5x2+x+8] .2=[p(x)—q(x)=—3x2—x+2]
Ans2 = 3=[q(x)-p(x)=3x"+x—-2] 4=[mp(x)-nq(x)=—16x"-5x+5]
S=[p(x)qx)=4x"+x+23x* +5x+15] 6=[[p(x)F=x"+10x>+25]

Ans3=[p(x)q(x)=x"+x" =16 x =18 x* = 10 x — 8]
Ansd=[a+b=-3,ab=-40], , AnsS=[a=-1,b=5,ab="-5]
Ans6=[P(x)=x"+4x —x" = 5]

_]_[Q(x)=4x4—2x3—2x2+3} 2_[ Q(x)=4x-2 }
o R(x)=-2 o R(x):—2x3+3x—2
_ | Q)=x _Q(x)=x3+2x2—7x+18}
Aan7= '3_[R(x)=—3x+2} ’4_[ R(x) =-40
5_[Q(x)=4x3—12x} 6_[Q(X)=x3+4}
L L R(x)=36x-5 7L R(x)=13 i
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Ansl =[a=-4,b=1,c=0]

.1=[p(X)+q(x)=3x2—3x—7] .2=[p(x)—q(x)=—x2+3x+ 1]
Ans2 = 3=[q(x)—-p(x)=x"-3x-1] 4=[mp(x)-nq(x)=-7x"+15x+ 11]
S=[px)q(x)=2x"-3x"-10x>+9x+12] 6=[[p(x)=x"-6x"+9]

Ans3=[p(x)q(x)=x+3x - 16x"+12x —4x*+ 12 x - 8]
Ansd=[a+b=-6,ab=-16], , AnsS=[a=-1,b=5,ab="-5]
Ans6=[P(x)=x"—4x +2x*—6x+1]

_]_[Q(x)=4x4—x3+x2+2x+3} 2_[ Q(x)=4x-1 }
o R(x)=-3 o R(x):x3+2x2+3x—3
_ _ Q(x)zx} _[Q(x):x3+6x2+12x+27}
Aan7= '3‘[R(x)=—x+6 4= R(x) = 57
5_[Q(x)=2x3—691 6_[Q(x)=x3+4}
L "L R(x)=18x-5 7L R(x)=38 |
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Ansl =[a=0,b=2,c=-3]
d=[p(x)+q(x)=4x"+x—-4] 2=[p(x)-q(x)=—2x"-x+6]
3=[q(x)—-p(x)=2x"+x-6] 4=[mp(x)—nq(x)=-12x"—5x+28]

S=[p(x)qx)=3x"+x =2x"+x-5] H=[[p(x)P=x"+2x"+1]
Ans3:[p(x)q(x):x6—5x5+8x4—30x3+ 15x% - I5x+6]
Ansd=[a+b=6,ab=-7], , AnsS=[a=6,b=4,ab=24]
Ans6=[P(x)=x'+4x -x*=2x-17]

Ans2 =

_]_[Q(x)=3x3—x2+2x—2} 2_[ Qx)=3x-1 }
o R(x)=x+3 o R(x)=2x3—2x2+x+3
_ | Qx)=x _Q(x)=x3—x2+x}
Ans7 = '3_[R(x)=2x+3} '4_[ R(x)=2
5_[Q(X)=4x3—8)ﬂ 6_[Q(X)=x3+6}
L "LR(x)=16x-5 7L R(x)=12 i
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RealOl Answers for No.644223

Ansl =[a=0,b=-1,c=1]
.1=[p(x)+q(x)=3x2—3x+3] .2=[p(x)—q(x)=—x2+3x+1]
Ans2 = 3=[q(x)-p(x)=x"-3x—-1] 4=[mp(x)-nq(x)=x"+6x+8]
S=[p(x)qx)=2x"-3x"+5x"-6x+2] 6=[[p(x)P=x"+4x"+4]
Ans3=[p(x)q(x)=x"—4x -2x' - 12X - 13x* = 8x—10]
Ansd=[a+b=-6,ab=-7], , AnsS=[a=1,b=5,ab=5]
Ans6=[P(x)=x"—4x —=7x*+31x+5]

]:[Q(x):5x4+3x3+x2+x—2} 2:{Q(x):5x2+3x+1}
' R(x)=3 . R(x)=x"—2x+3
Ans7 = ,3:[ Q(x)=x } .4:[Q(X)=x3+x2—6x+15}
R(x)=-3x+1 R(x)=-31
5:[Q(x)=3x3+6x} 6:[Q(X)=x3+2}
L R(x)=12x-5 ' R(x)=0 |
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Ansl =[a=0,b=0,c=1]

.1=[p(x)+q(x)=3x2—4x+4] .2=[p(x)—q(x)=—x2+4x+2]
Ans2 = 3=[q(x)-p(x)=x’—4x-2] 4=[mp(x)-nq(x)=x"+8x+13]
S=[p(x)qx)=2x"—-4x"+7x = 12 x+3] 6=[[p(x)P=x"+6x"+9]
Ans3=[p(x)q(x)=x"+6x"+10x —2x" —24x - 12]
Ansd=[a+b=1,ab=-72], , AnsS=[a=-4,b=2,ab=-8]
Ans6=[P(x)=x"-7x —4x* +31x+1]
_]:[Q(x):3x4—2x3+3} ZZ[Q(x):3x—2}
' R(x)=0 ' R(x)=3x
X)=x )=xX+6x"+12x+24
Ans7 = '3:[11(3(:14“6} '4:[Q( : R(x) = 47 }
'5:[Q(x):3x3+3x} '6:[Q(x):x3+2}
L R(x)=3x+2 R(x)=0 i
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Ansl =[a=1,b=

.1=[p(x)+q(x)=5x2—5x—1]
3=[q(x)-p(x)=3x"-5x+3]
S=[p(x)qx)=4x"=5x-7x"+10x-2

Ans2 =

Ans3 =[p(x) q(x):x6— 6x —5x"
, AnsS=[a=-5,b=4,ab=-20]

Ansd =[a+b=17,ab="72],

4,c=4]
.2=[p(x)—q(x)=—3x2+5x—3]
4=[mp(x)-nq(x)=-Tx"+15x—13]
G6=[[p(x)P=x"-4x"+4]
+5x —26x"—49x-20]

]

Ans6=[P(x)=x"+7x —6x*—39x—4]

1_[Q(x)=x4—4x3—2x—1
T R(x)=1
_ | Qx)=x
Ans7 = '3_[R(x)=—6x+6}
5_[Q(x):2x3+6x}
i "L R(x)=18x-3

[Page 0059]

} [ Q(x)=x"—4x
2= )
R(x)=-2x"—-x+

-4
.|

|
Qlx)=x" +2x—6}
R(x)=14

Q(x)=x"+4
R(x)=9
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Ansl =[a=2,b=3,c=2]

d=[p(x)+q(x)=4x"+2x+6] 2=[p(x)—q(x)==2x>-2x]
Ans2 = 3=[q(x)—p(x)=2x"+2x] 4=[mp(x)—nq(x)=-7x" —8x+3]
S=[p(x)q(x)=3x"+2x+12x>+6x+9] 6=[[p(x)P=x"+6x"+9]
Ans3=[p(x)q(x)=x*-2x"=9x* + 18X’ + 6 x* =30 x + 36]
Ansd=[a+b=-1,ab=-2], , AnsS=[a=-7,b=4,ab=-28]

Ans6=[P(x)=x"—2x =7x*+19x—4]

_1_[Q(x)=3x4+4x3+3x2—2x+1} 2_[ Qx)=3x+4 }
T R(x)=3 o R(x):3x3—2x2+x+3
_ _ Q(x)=x _ Q(x):x3—x2+7x—23}
Ans7 = '3_|:R(x):7x+3} '4_[ R(x) =66
5_[Q(X)=3x3—3)ﬂ 6_[Q(X)=x3+6}
L "L R(x)=3x-5 7L R(x)=13 |
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Ansl =[a=-1,b=0,c=0]

.]=[p(x)+q(x)=4x2+x—3] .2=[p(x)—q(x)=—2x2—x+ 1]
Ans2 = 3=[q(x)-p(x)=2x"+x—1] 4=[mp(x)-nq(x)=—x"-2x—-1]
S=[p(x)q(x)=3x"+x =5x" —x+2] H=[[p(x)P=x"-2x"+1]

Ans3 =[p(x)q(x)=x"-2x = 10x*+15x° —=4x* +20x - 20]
Ansd=[a+b=12,ab=35], , AnsS=[a=1,b=6,ab=06]
Ans6=[P(x)=x4—4x3+x2—2x— 1]

1:|:Q(x):x3+4x2_4x+1:| 2:{Q(X)=x2+4x—4}
' R(x)=4x+1 . R(x)=x2+4x+l
Ans7 = .3:[ Qx)=x } '4:[Q(x)=x3+7x2+14x+28}
R(x)=7x+6 R(x) =61
5:[Q(x)=2x3+4x} 6:[Q(x)=x3+2}
L R(x)=8x+3 . R(x)=-1 ]
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RealOl Answers for No.644228

A =[p(x)+q(

Ans2=|  3=[q(x)—p(

S=[p(x)q(x)=

Ansl =[a=2,b=-4,c=0]
x)=5x2—5x+3]
x):3x2—5x+5]
4558 +5x—4]

4 =[mp(x)-nq(x)=-18 x>

Ans3=[p(x)q(x)=x—6 X +7x" = 12X + 6 x* + 24 x - 20]

Ans4d =[a+b=-16,ab=063],

Ans7 =

B

[Page 0062]

|
.

Ans6=[P(x)=x"+5x -2x"-Tx+1]

Q(x)=2x3+x} 2_[ Q(x)=2x
R(x)=-3x-3 B R(x):x3—3x—3

|

Q(x)=x } 4_[Q(x):x3+6x2+14x+30
R(x)=-Tx-4] = R(x) =56
Q(x):3x3+6x} 6_[Q(x):x3+4}
R(x)=12x+2 L R(x)=-10

.2=[p(x)—q(x)=—3x2+5x—5]

+25x-22]

6=[[p(x)P=x"-2x"+1]

, AnsS=[a=-5,b=7,ab=-35]

|
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RealOl Answers for No.644229

Ansl =[a=-3,b=3,c=-1]

I=[p(x)+q(x)=5x"—4x+1] .2=[p(x)—q(x)=—3x2+4x+7]
Ans2 = 3=[q(x)-p(x)=3x"-4x-7] 4=[mp(x)-nq(x)=—-10x>+ 12 x + 17]
S=[p(x)qx)=4x"-4x"+13x° 16 x - 12] 6=[[p(x)=x"+8x+16]

Ans3:[p(x)q(x):x6—5x5—2x4—6x3+32x2+2x—4]
Ansd=[a+b=2,ab=-8], , AnsS=[a=1,b=6,ab=6]
Ans6=[P(x)=x'-5x —4x*+25x-3]

—]:[Q(x)=2x4—3x3+4x2—2x+2} 2:[Q(X)=2x2—3x+4}_
| R(x)=0 ' R(x)=-2x"+2x
- | Qe)=x } _[Q(x)=x3+x2—2x+4}
Ans7 ’3_[R(x):—2x— 5 4= R(x) =5
5_[Q(x)=3x3+3x} 6_[Q(X)=x3+9}
- L R(x)=3x-2 Tl Rw=32 ]
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Ansl =[a=3,b=2,c=-2]

.1=[p(x)+q(x)=3x2+2x—9] .2=[p(x)—q(x)=—x2—2x+ 1]
Ans2 = 3=[q(x)-p(x)=x"+2x-1] 4=[mp(x)—nq(x)=—-4x"—6x+7]
S=[p(x)qx)=2x"+2x" - 13x" - 8x+20] 6=[[p(x)]=x"-8x"+16]

Ans3=[p(x) q(x)=x’+3 X +3x + 158 =6 "+ 12x - 8]
Ansd=[a+b=15,ab=56], , AnsS=[a=6,b=1,ab=06]
Ans6=[P(x)=x"+6x -3x"—16x+1]

_1_{Q(x):2x4—2x3—3x2+2} 2_[ Qx)=2x-2 }
T R(x)=-1 o R(x):—3x3+2x—1
_ _ Q(x)=x} _[Q(x)=x3+6x2+18x+54}
Ans7= '3_[R(x)=—6x+3 = R(x) =163
5_[Q(x):3x3+3x} 6_{Q(x):x3+3}
i L R(x)=3x-2 7L R(x)=-8 ]
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